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õ
h
im

õ
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äikad

e
p
laatid

e
p
u
h
u
l
h
ü
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töötad
a

n
ii

jäigan
a,

p
ain

d
u
van

a
k
u
i
m

em
b
raan

in
a.

K
ä
eso

leva
s

ku
rsu

ses
va

a
tlem

e
va

id
õ
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sõp

etu
se

vaid
h
o
op

is
elastsu

sõp
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läb

ip
ain

d
ed

v
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=
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p
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p
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∫
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p
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p
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p
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p
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p
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p
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v
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v
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p
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=
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w∂
x

.
(6.3)

•
A

n
alo

ogiliselt
saam

e
sid

u
d
a

ka
siird

ekom
p
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∂
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∂
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∂
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∂
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∂
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∂
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

∂
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x

∂
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+
∂
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∂
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+
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=
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∂
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∂
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õrran

d
it

x
järgi,

teist
y

järgi
ja

kol-
m

an
d
at

z
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=
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=
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=
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lõp
u
k
s

v
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∂
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∂
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=
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p
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eejärel

saam
e

seoste
(6.9)

ab
il

leid
a

p
in

ged
σ

x ,
σ

y
ja

τ
x
y .

N
ih

kep
in

-
gete

τ
y
z

ja
τ
x
z

m
ääram
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jõ
u
d

T
alad

e
korral

m
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jõu
täh

istu
s
(jo

on
is

6.3).
P

laa-
tid

e
p
u
h
u
l
on

kom
b
ek

s
täh

istad
a

p
in

ge
σ

x
p
o
olt

p
õh
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tõm

m
et.

P
ositiiv

n
e

p
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jõu
ga,

esitatak
se

ka
reak

tsio
on

jõu
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ristlõikes,
m

ille
n
orm

aal
on

x
telje

sih
ilin

e
(jo

on
is

lo
en

gu
s).

P
arem

p
o
olsel

ristk
ü
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jõu
in

ten
siiv

su
sele)

veel
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õrran

d
i
lah

en
d
am

isek
s

on
va

ja
tead

a
va

jalik
u
l
h
u
lgal

ra
ja

-

eh
k

serva
-
eh

k
ä
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õrran

d
vaid

ü
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